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01. = FefFare ke e Q Ffa w0

232Th M * n—" 0 —— ,p— 50
(a) *§6Rn (b) *§3Ac (c) *§5Ra (d) 254P (e) *g7Fr
S: (a); 232Th N zza(RMa) P zzagﬁ LA 223?:;1} - ,zggﬁj% e 252(1%
02. 0T 79 OO T (FTASTET Y TI- [Ans: d]
(i) GaTet e Rarey s =AfimTr Rt e | |
(ii) IFTAC e WY SfeR [Rreray T erre sra= amr oifire =37 -
(iii) FETC T € WA MYIT AT=F FITE A7 S |
(iv) SroEr @ <4 |
Trafe Sfesmrer o fArse i Tt wfide?
(a) i, i (b) i, ii (©) i, ii (d) i, i, iii (e) i, iv

03. 1000 cm?® &&W 53 30 g ¥R HATS WiCR | AfSIE 100cm3mﬁm§m300cm3 2F Tl e w9 @
T FACT 3 o1 *md (2t qa? 36 wodrE N wmgee 0.25 |

(a) 5.54 g (b) 8.23 g (c) 10.93 g (d) 12.59 ¢ (e) 14.12 g

3
ey v \* 1000 _

04, “yH® “iffm OH ™~ wR=s T==@r 5.0 X 107% M 2031 «t® H, 0 Siies 99wiat 3% 3047
(a)1.0x107°M (b)2.0x107°M (c)3.0x10™°M (d)40x10"°M (e)5.0x107°M

: (b); [H30*][OH] =Ky, = [H30*] = 22— =2x 10O M

05. 7o AFfes TEREFER RETE @G A4te? [Ans: c]
(a) =OTCIT® (b) 5% (c) cenfos (d) *mrEreaTS (e) FI®

06. 250 mL Swetw@ 1 mole 3> IRT *HIGH 300 K SN 519 T 0 ©f Sied Guept Adeaca AR fvfa +4
[a = 2.253 atm.L2. mol™2 @32 b = 0.0428 L. mol™?] X

(a) 130.6 atm (b) 53.5 atm (c) 25.7 atm (d) 82.8 atm (e) 96.9 atm

n‘a nRT _ n?a
swr: (d); (P+52) (V—nb) =nRT «P=_m -2

07. W GEeE g-1$F “ifwre 877.5 ppm NaCl ¥=ta T&-#iftes NaCl 97 T iar (ienfiors T 212
(a) 0.01 M (b)0.05 M (c) 0.015 M (d) 0.025 M () 0.035 M

FTART: (c); 877.5 ppm ~ 877.5 mg/L = 0.8775g/L = >~ mol/L = 0.015 M

08. «sfb HITI (e @RERGREH 1.0 X 10° L.mol™lem ™1, “tea 0T 1.0 cm W32 o4rgel =wwret 1.5 3081 59f6a g«

= 82.82 atm

T
(a) 1.25 x 107> mol.L™* (b) 1.25 X 10~* mol. L™ (c) 1.5 x 10~° mol.L1
(d) 1.5 X 10~* mol.L™? (e) 1.35 X 10~* mol. L™
(o) A — e A_ 15 -5
TNE: ();A=¢€cl ~c=o=——=15Xx10"M

: BT S ) ( G
égm T 40 ) Gl
h 1’" - )} {I L5 AL
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09.

10.

11.

12,

13.

14,

15.

16.

17.

r '-u'i- :-I-_i“h - By 1 % f !-'-i-—u-r-.—r -

ECy/cuzt = —0.34V &R EQ L2+ = 0.44V Z01-
(1) S =1t FeS0, B39 301 919 |

(ii) SR *iT@ FeS0, Ja =T 7w 1 |

(iii) ¢TZ #t@ CuSO, Fe AT I |

(iv) G #itt@ CuSO, HI I 1T =7 |

e =i wfvw?
(a) i, i (b) i, iii (©) i, iv (d) i, iii (e) i, iv
T (€); ED 4 + E%e = 0.34V +0.44V = 0.78V > 0V .. @: Fe/Fe?" [|Cu*?/Cu
Cu Fe2”
HC = C— CH = CH, @Mifos C — C 933 IFA0Te IR (@ FRSAAT W06 ©f Z0F1i- [Ans: c]
(a) sp? — sp? (b) sp — sp? (c) sp — sp? (d) sp® — sp3 (¢) sp? — sp?
s @mit weTes Tred Ry wiewaee 32 ' [Ans: d]
(2) HCHO (b) C¢HsCHO (c) (CH3)3CCHO  (d) CH3CHO (e) Cl;CCHO '
AT (T PATSTT TR G T @ =i aas?
(@)n=4,£=0,m=0ands = +3 (b)n=4,¢=0m=0ands =~
(c)n=3,£’=0,m=[lan55=+% (cl)n=3,€=1,m=[lands=+-;—
()n=3¢=2,m=0ands=+;
TAE: (e); (n + 1) T Qo =& &
Set-I a7 ATY Set-II firey 357 | [Ans: a]
Set-1 Set-I1
H,50,,170°C
(a) C,HsOH — 24270, (1) e
Ag(Power, A) (2)%
(b) CHI5 =.~
e (3) @fEw
(c) CH3COONa(aq) acasl’ (4) s
NaOH/Ca0, -
(d) CH;COONa ——2/220: 8, (5) T
(a)a—2,b—4,c—5,d—1 (b)a—2,b—4,c—5,d—3
(c)a—2,b—2,c—-5,d-1 _ (da—4,b—2,c—-5,d-3

(e)a—2,b—2,c—4,d—-1 X
~A = 2B Rfirifba o “A” a7 s zor aMewm 21w STee “B” @Te WeTi R THAFS S TE- [Ans: ]

d(A d[B] d[A] 1d[B] d[A] 1d[B d[A] d[B dlA dIB
A e s A B IR

dt
252 ﬁﬁmmmwﬁar amwﬁw@mmm;*
(a) 4.8 x 10?3 (b) 2.4 x 1021 (c) 4.8 x 10%1 (d) 1.2 x 101 (e) 7.23 x 1031
SANE: (), wmE wHifes afffe = H,C,0,.2H,0
TRRGAITS e T Y 936 Frwdia 2 H, S0, #tg ¢t | 2rifires Bt e o= & v Sfwr [Ans: d]
(a) SIZS FITF FIT FI ST | (b) F© BT FfFw/zrrirens e |
(c) TR 7AfFS Aid-box (TF Antiseptic I9 @I | (d) =S B 2pe Hif ey yre =9 |
(e) o7 oI fa wize FeR «fSte g e |
30°C & 55°C S (T @3 GTe HRIeT T 50 6 90 | 30°C S 50 g FIF 55°C S B =1
2 | @ IR GINT T[F A0S W TS AT SIS Jaa TG 217

(a) 10.12 g (b) 11.48 g (c) 12.62 ¢ d) 1333 g (e) 16.66 g




@ KUET CUETRUETERITANR

TR (&
srr: (d); 30°C S, 100 gHREHT =50 g °
150 gaattge =50 g
- 50 g ET = 22> g = 16.67 g
- 87% = (50 — 16.67) = 33.33g

55°C St 100 g &< 53 90 g

. 33.33 gURGE &Y = “——— g = 29.997 g

. &fefiE 57 = (29.997 — 16.67) = 13.33 g

|x—y]| v __ |50-90]
(100+x) 100+50

x = 9§ GI{reT | y = CE Qyet , V = JI0R Wie

Shortcut: A 59 = X 50=13.33¢g

[Note: &ts I FI94TF 79& FAC© 41 T, O, shortcut: Py T X (9o ©itet qryerE «1dwr); ﬂﬁ‘mw
& F0® e, shortcut: mﬂ.ﬁm X (GRTSR “dT)]

18. wal few QIoR TEE 2.04 S Gy 2.65 X 1022 & 3T 7w @R 0.132 Gl SfETem #1901, Aneqr (574 |
A +F ey 73 A R aiites e [{iE s o IR T Ty a1 T=AF IR ST AT

fadfa < |
(a) 3.011 x 1023 (b) 12.046 x 1023 (c) 1.506 x 102> (d) 6.023 x 10%* (e) 2.008 x 102
_ _ 204 _ _ 2.65x10%% _
n: (d); Na = =~ = 0.089, C = ———=0.044, 0 = 0.132
~Na:C:0 = 0.089:0.044:0.132 = 2:1:3
73
Cﬁ"‘ﬁ NaECDS. NHel = E'E' = 2

Na,CO5 + 2HCl—— 2NaCl + H,0 + CO,

n 2
o= “g“ =>=1 Hco, = 6.023 x 10%

19. =t f&RfEEm 600 K Sy ot 2e | [RfemT 3 asrres S4EfSte vag 2t 9o <0 SrEee sremar agst 500
K 1 goras 3fw sz =& 30 k]. mol~! w1y sizre RfFnfba s =& oo fes

(a) 180 k]. mol™? (b) 15000 k]. mol ™ (c) 18000 kJ. mol ™

(d) 150 k]. mol™? (e) 1.5 kJ. mol~1 ‘

YE: (a); K = Ae'_‘-_“f"i: = AE% fo—ta Ea i
RT, RT,

Ea_Th 800, B2 __% .E, =180k mol!

E. T, 500 E;—30 5

CuCN H,O0/H* A
20. Scheme-1: CgHgN,Cl » CcHsCN » C¢HsCOOH > [Product — []
Fe/HCI NO,+HCl,273K H,0/Ht

Scheme-2: CEHSNOZ > CEHENHZ 4 CEH5N2C1 TR [Prﬂdl.lﬂt - H]

NH3 NaOBr
Scheme-3: CH;COOH » CH; CONH, > [Product — 11I]
Trafee Scheme X Product-I, Product-II €32 Product-IIT 2 I, [Ans: e]
(a) CcH;COONH,, CcHsCl and CH30H (b) C¢HgCONH,, C¢gHsNH, and CH;0H '
(C) CEHSCDNHE, CEHSNHZ and CHgNHE (d) CﬁHSCONHz, CEHEOH and CHEOH

(E) CEHECONHE, CﬁHsoH and CHENHZ

AT Sy A
‘ Ty )
ke A
:.-'Ilh_._!.:l_. '.'.I- .! i
[ Epl e Sa g T &
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21. ano;r, COE,CFOE, CI'ZO_-;,VZO-_.-, and VzOq_ ﬂim@mmmﬂww? [AI'IS: d]
(ﬂ) MzD?, Crzog and V205 (b) V205 and Vqu_
(E) CI'OE, szOg, VZOS and V204 (d) Cr203 and VZOS

(E«') anf}?, Cr203, CFDE ,V205 and V204_
22. 25°C em@m H, + Cl, + 2H,0 = 2H;0% + 2CI- REmm s, K= 10% | 25°C et

Pt, H;|HCI(aq)|Cl,, Pt =itsw E° R w7 | | [Ans: d]
(a) 1.0V (b) 1.357 V (c)2.2V (d)0.000V ~  (e)24V

23. (i) 8MnO,4 + 35,05~ + 2H* - 8MnO, + 6S02~ +H, [Ans: c]
(if) 2ZMnOjy + 5C;05~ + 4H* - 2Mn?* + 10C0, + 2H,0 + 30, |
(iif) ZMnOZ + 5NOZ + 6H* - 2Mn?* + 5NO3 + 3H,0
(iv) 2MnO3 + I~ + 3H,0 - 105 + 2MnO, + 20H™ + 2H,
(v) 2MnOg + 101~ + 16H* — 2Mn?* + 51, + 8H,0
Srgfe fRfeaatar oy wibs Rfvs o Aog @F Ser 7@

(a) 1, ii, 1ii (b) 11, 1v (c) i, iv, v (d)iv, v (e) i1, v

24, ST ¢ WIGTHET W= Ot TAF —90.6 @32 —68.3 k. Cal/mole T Suicifar o7 1t 8 Kcal/mole
X o foefr =g |
(a) —11.85 (b) —=158.9 (c) —22.3 (d) —283.35 (e) —238.35

STE: (a); 2NH, +§02 — N + 3H,0,AH = —90.6 k cal/mol .
3
W AH = AHsz + 3 ﬂHfHH3 -2 &HfHHg — EﬂHfﬂz

2(=90.6) = 0+ 3 x (~68.3) — 2AHg,,, —2x 0
AHfNH3 = —11.85 Kcal/mol.

25. SR SRS Gt SR Fifie @ ke e sRged o e 3d2 3ERahRe SHREIEe S [Ans: €]
(a) Ti**, V2t Cr3+, Mn*t, Fe3t (b) Tit, Cré*,v4*, Mn7* Fe2t
(c) Cr*+, V3+ Ti4t Feb*+ Mn3+ (d) Ti?*, V3+, Cr3+, Mn5*, FeS+
(e) Ti2+,V3+, Crét, MnS+, Feb+

26, lim SRXINETCOSN) o o oD

x—ﬂ] xsin x _
1 1

(a) (b) 3 ©)3 @2 &)

e sinx-In(eXcosx) sinx=IneX-Incosx
(e); limyg X sinx = limy_q x sin x
sinx
= i SEXTXTIN(C0SY) _ y T8 cos [L. Hospital]
T x—0 X sinx "~ x>0 XCOS X+sinx ' P
—sinx—-0+sec? x — -0+1
o ,!:_pn—xsm X+COSX+CcosX —ﬂ+1+1 2 [L Hﬂspltal]
27. y=sin®x &, y,, 97 T @07
(a) % [3sin(nmt/2 + x) — 3" sin(nm/2 + 3x)] (b) sin(nmt/2 + x) (c) cos(m/2 + x)
(d) 3" sin(nm/2 + 3x) (e) 3" sin(nm/2 + 3x) + cos nx

TA: (a); y = sin’x = = (3 sinx — sin 3x)
= V3 =-E- (3cosx — 3.1:053:{) =i {3 sin(x+§) - 31sin(3x+§)}
=% {35in(nz—“+x)—3"5in(112—n+3x)

¥n
-' S )
T, ||




29.

30.

31.

32.

33.

KUET, CUET, RUET & 3 31X

y = 2 (x + :—E) a7 o T ZCE-

(a) (b)0 (c) 2 (d) -2 (e) —4
FAYE: (a); X — O A, Y = 2 (x+§) = 2 (m—l—-—) = 0
y=2(1-3)=0=x=1-1

y'=2;y'(-1)=-2<0 +dw A =2(-1+=) = —4

loginy SiN? X 9T SEIT A (FIAG?

(a) 2 (b) (sin x)siﬂz x=1 () 2(sinx)c°s" X1 (d) 0 (e) cotx
FAYI: (d) (lugsmxsm X) =— (2) =0

[ =27 dx @3 91 XEEI-

4x%—~4X+5
(a) glug(tlx —4x+5) + %t;sm‘1 2:-:2—1 (b) 3log(4x? — 4x + 5) + tan" 122 ¢ ¢
(c) %lug(tlx —4x+5)+ 2tan?! (2}{2—1) +c (d) %lug(*’-}xz —4x+5) + tan™? 2’:1 +c
(e) 3log(4x? — 4x+5) + %t.an"1 2::2— L+ ¢
sy: (No correct answer); let,z = 4x% — 4x+ 5 ~ dz = (8x — 4) dx

6
6x—7 g Bx—4)-4 _ 3 pdz _ dx

i j 4x%2—4x+5 dx = 4%x2—4x+5 dx = 4 z 4 J- 4xZ2—4X+5
_3 _ 4 — E 2 _ dx
- lnz fﬂ_ﬁ_ ~In|4x? — 4x + 5 IxE-z.x§+§+1

3 d 3 _y (2x-1
=;ln|4x3—4x+5|—f( 1}; 2 =Eln| 4%x°% — 4x + 5| — tan 1( xz )

}C—E) +1
d
[ (@% — x2) dx a7 W= FHG? [Ans: a]
0
2 2 2 -

(a) = (b) = (0) = (@)= (¢) 3ma?

ABC faetam A, B, Cc&tﬁﬁﬁmﬁwwmﬁﬁw Bo 7w 994 fFaee P, Q, R 9@y SARgE A
P:Q:R @3 W7 +9?
(a) a:b:c (b) 2a:b:c (c) 2a:3b:c (d) a:b:5c ‘ (e) FEGE 77

HAHI: (a);

P _  Q R P _ Q _ R _P_Q_R

sin(mn—A)  sin(m—-B)  sin(m—C) sinA sinB sinC a b C

AAETT Aot SN G T e 93T ANl (e e 10 GRS +[ MHee #1tg | Wbre @i e w919 1208
e @ Swer (Mew of ZL&-

(a) 1470 m (b) 980 m (c) 1960 m (d) 490 m (e) 245 m
TY: (d); hpomp = —ut+% gt? = —ux10+4.9%x102=490—-10u
* hplane = 10u + 490 — 10u = 490
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34. a3 &= FITT 500, 50 @ Swmlﬁm 5 @6 7wz | Bt 7 ©iftw o7 v 2o g By moare wiw fre

(a) 60 (b) 59 (c) 61 (d) 119 (e) 121
e (d; N=B+1) (4+1)(5+1)—1=119

35. TR =@ AP’ ATl weer 3 2 Bt TR @I 6 SiewR SRA! P, @9k 2 B SR @R 7 SR ] P, =,
SR Py + P, 93 919 92

13 "
OF (b) 3 OF @3 (¢) comBE 7
T (a); 6=1+5=2+4=3+3=4+2=5+1P =

7=1+6=2+5=3+4=4+3=5+2=6+1P,=— “ P+ Py ==
36. 2,5,9, 16 93 RtowE Z=-

(a) J-ZE% (b) =% (©) =% (d) V2750 (€) f?
J's_E
STYS: (b); [Rtowrs = % X 100% = —;— X 100% = ff—:ﬂ X 100% (Calculator-Statistics (Stat) Mode)
1 1 1 1
37. 1+ S =3t st 99 AW G2
(a) =3In2 (b)In7 (c)5In3 (d)2In2, (e)3In5
- . 1 _ 1,1 1., _ 2-1 3-2 ,4-3 5-4
'(d)’1+1.2 z.3+3.4 25 T 1+ 12 23 V34 a
— ~r 1, 1,1 1 1.1,1 1,1 1,1
=1+1-; 2 T3ttt 2(1=3+3-3+3
_ X . X ¥ Lxb
= 2In2 [In(l+:-:)—1—-;+2 =3 +4-—---]
38. ‘a’ @9 @M ATH S A = 2i + 3]+ 4K, B = 3i + 4] + ak ¢ C = ai + 7} + 9k w22
(a) 2 (b) -2 (c)3 (d) =5 (e) 5
W:(e);mﬁﬂmﬂﬁﬁ-(ﬁxﬁ)=ﬂﬁ|
2 3 4
3 4 a|=2(36—7a)+3(@*—27)+4(21 —4a) =3a2—30a+75=0
a 7 9 '
=>a’-10a+25=0=>(@a-52%=0=a=>5 '
39. P(l,Z)ﬁﬂi*ﬂEZx—y+5=0ﬂx+y—4=0MWWPQﬂPRWWWmPQRMW
-
3 5 3 . 5 7
(a) 5 (b) 5 (c); (d)3 ()3
e _|21-245] _ _ |1+2-4| _ 1 _|2=Co) 3]
: (c); PQ = Vs ‘_ﬁpn_‘ V2 '_«!E ta“LQPR_Lu(—n":Ll_S
1 . 1 1, _ 3
« APQR = Z PQ.PR.sin 2 PQR = =~ ﬁ.ﬁ .sin(tan™13) = "
40. ABC fagrem Miifa=efm gmm wrem A(0, 0), B(1, 5) 9 C(2,2) T A =i® BC @< B aiees ST
w3
(a)2x =y b)x+y=0 (c)3x+5y=0 (d)x+5y=2 (e)7x+y=3
7firl1ﬂ?1'=(I::);FIF‘IBC=:Li:i2 ==1 ~eq", y—0=-1x—-0)=—x ~x+y=0

o b, s 1 Y £ LT

/ :gm 1_1.‘ iy '.*.‘_. 7 I' {; 45 15 h?' . '!.:- 3
2 "‘:' .._1_.;"_. > !'-.._._r L
.:»‘.f-:;*ur.'.lq": ﬁhh o5
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AfBfamide s g @ 3 } b  KUET, CUET, RUET & 3 4
41, x*+y*—2x+6y—6= O?jm?{x-—y= 0 =15 +fafem @ @I @ 510 (@ I TRy 30 ©F -
11 T 1§ 21 3T
(a) (b)3 O (d) = (e)
TAYE: (c); x — y = 0 T J8F (=7 ¥,
2x2 +4x—6=0=2>x2+4+2x—3=0=2>x=1,-3 ~ (x,y) =(1,1),(-3,-3)

‘ dy El__}:_ dy _ 2-2x
..WW,ZJ{-!—Z}'M 2+ 6—= =dx_2y+ﬁ

(1,1) e rmmom =0 . mﬁqmﬂﬁﬁaw I TRy B |

42. W%WWWWWWI%W +2 —1mnﬁxw%ﬂmnﬂaa +—-—1GI'-’:ITWy
UFT A (&7 I0F | TAgEa TrIme! (FAb?

(a) (b) 22 ()2 @2 (&) 2

. (R x2  y* _ . . _ |62=5% _ V11
FAE: (b); TogEL, s+ 7 =1 - e= ’ - =
43. cos?A + cos?(A + m/3) + cos?(A — 1/3) @7 T FFG?
7

(2) (b)>+1 ()5 +5 (d) 2 CF
FNY: (a); cos? A + cos? (A+E) + cos (A——) T A = ﬁﬁrc*.:r"ﬂ?t, ==
44. +/3tan66 —v/3tan40 + tan 60 tan 40 + 1 = 0 931 ] AL ZC=T1-
(a) 60° (b) 165° (c) 75° (d)30° (e) 135°
FE: (c): V3 (tan 60 — tan 40) = —(1 + tan 66 tan 48)
5Tt

tan 60—tan 40 -—_1 _ _ o B 5_“ ‘ sn =
1+tan60tan4@® 3 = tan(66 — 46) = tan (“ E) = 20 = = 1 0= = 5 75

2

2
45. IMtan~'a+ ;-sec‘l izz + -cnsec -123% _ pzm, e a + b + ¢ ¢ AT F?
(a) 5 abc (b) 7 abc (c) 11 abc (d) 2 abc (e) abc
. (&) tan—1 1 _q1+b% 1 11+ _
AYE: (e); tan™ " a + ~sec  —5 +7 cosecT —— =
-1 1. g1 1 .4 2¢ -1 -1 -1 . — ‘
=tan""a+zcosT = +osinT = =T = tan""a+tan b+tan"*c=m
= tan(tan”'b 4 tan~!c) = tan(m —tan"'a) = 1]:::: =—a=>b+c=abc—a
~abc=a+b+c
x+4 X—6 E
46. ——> Wﬁaww
(a)—4<:x-=::6 (b))—4<x<6 (c)x<=3andx>7
(d)x<—4andx > 6 (e)—3<x<7
FqYE: (e); Option test. ‘
X+Yy X y
47. X X+z Z | G99 TN 9?7
y z y+2Z
(a) 4xyz (b) -;-xyz (c) %xyz (d) 11xyz (e) 13xyz
X+y X y 3 1 2
g (a);] X x+z z |a(xyz)=(123)F@AR|1 4 3|=24
y z Y+Z 2 3 5
1 6
(a) 4xyz = 4.1.2.3 = 24 (h) xyz—— 1.23 =13 (c) xyz=:>.1.23 ==

(d) 11xyz = 11.1.2.3 = 66 (e) 13xyz =13.1.23 =178

TR <




KUET, CUET, RUET &F 3 A14d

(a) & (E +§i (b) £(2 + 5i) (c) £(3 + 7i) (d) £(9 + 111) (e) None of these
FHHI: (a); By calculator (option check)

499. FR-R, ggR-> R h:R- R, f(x) =tan"1x, g(y) =siny @ h(z) = i;—:ﬂﬁg[fnh (tan 30°)] @7 W=-

(@) 30° (b) 45° (@8 (@) o () 22
. . 0y — oYy — 1-1.Tl§ — e — V3-1 — 0
THT: (d); foh(tan 30°) = fith (tan 30°)) = f (1%) = tan~! (E—l) =15
~ g [foh (tan 30°)] = g(15°) = sin15° = i;i
50.  6x° —x + 13 = 0 RFTR Tl o, B,y 7 ¥ (o — B)? @3 W Tw?
(a) = (b) 3 (c)1 (d) -1 (e)

T (©); Lo~ B)? = (@—B)? + (B— )2 + (y — )2

=2 (a® +B% +vy? — af = By — ya) = 2{ (a + B + ¥)? — 3(aB + By + yo0))
= 2 (02—3.-‘6—")=2.§=1

51. WWWWM&WWWWzScmﬁ5.6cm|%mﬁﬁwwm
mwmﬁwﬁzscmﬂmwmlﬁfﬁawmﬁﬁ?[mmmzscml
(a) 0.16 cm (b) 0.13 cm (c) 1.1 cm (d) 0.22 cm (e) 1.8 cm
-t 1 _1_ .1, _
W.(a),a—ue+ve —5.5_'ug+—25 . Ue = 4.58
o =L—u,=20.42
1 1 1 1 1 1 i
E_;{;-]_E:___—__F__Eﬂdvz s UE'—Z.BS
. vu Ve 20.42x25| _ 1" _ 625 _ _
ue _,255x4sal 39.1 1= m 3911 0.16 cm
52. Wlﬂﬁtﬁﬁ"{‘l-xlﬂ cmﬂB%AWWﬁﬁ?mﬁnﬁmawmﬁﬁwwmﬁﬂmﬁwWﬁw
WINGTA TS| (& v oty o7 |
(a) 17.26° (b) 18° (c) 16.95° (d) 8.44° » (e) 10°
_AD AD
A= —_ -7
W:(c);!ﬂ " osingo =238, g _ g4go . 26 = 16.95°

53. @@= wofdnd 22004 93 6T (=% ST ThT WTAT et 0 i | @3 [ fEw its & 94 eV g T2

(a) 6.23 eV (b) 7 eV (c) 5.44 eV (d) 6.9 eV (€) 5.66 eV
FAY: (e): E = %‘- = 5.66 eV

54. @36 AC SR @R 188V @k 3% 60Hz | @2 B<ig 5w 350) QY & ¥ 7 | fS GITE TarsEe = Ty
IGREE N
(a) 539.2] (b) 639 8 watt (c) 549.8] (d) 539.84 watt  (e) 504.76 watt

188
RDIEICE (e) st ( = 504.91 watt

p-.-ﬂ-l",— —— '_‘. 'I"‘
f 3 r |
- r - i -
L =
4 : b
. : ' B
el L -
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a3fo fer Frem 2w wits 0.1 nunﬂﬁﬂﬁﬁf‘ﬁ 157 cmmﬂaﬁwwmwvﬁw%nmaﬁmw@
AT I & (AT 25 cm A e 7 oinemr o | SIRiba Seimieaa seates cry fefy v
(a) 4.2 X 107 O-m (b) 2 X 1077 Q-m (c) 3.66 X 1078 0-m
(d)3x 1077 O-m (€) 2.8 X 107° 1-m
pL '

wT: (d); 2 le——=A=_— .P=3x1070m
GFB FEMTA T (@O TT I, T 1 o wfsaiike ze +ffidiee 2 fw sfsaifzs 2@
(a) 2.61 X 108 m/s (b) 2.59 x 108 m/s - (c) 2.56 x 108 m/s
(d) 2.50 X 108 m/s (e) 2.48 X 108 m/s |
AY: (b); Jl_—E (%)2=1—:—: .-.v=§c=2.59'>< 108
W@Wﬁw%’aﬁ 107 W/m? | it St faeet 201 g Sot (Tren Fe5F ISLE?
[ et Siget = 10712 W/m? ]
(a) 2.75dB (b) 2.50dB (c) 2.25dB (d) 3.01dB (e) 1.3dB
TE: (d); AP = 101ug:-j- = 10log2 = 3.01 dB
@I 93T (oTET *Mda WY 3.8 i 1 8 Tt ¥R “Witfa ol T© Wt T IA?
(a) 68.7% (b) 86.7% (c) 76.8% (d) 95.0% (e) 58.0%
ST (C); — N, = eM = e~ 35X = 23249 ~0%N = Nn =76.8%
435 feremae efeTe @ 60° W3R TAMITR AfSw@IT 1.48 | FJox [pfs @ 72
(a) 35.46° (b) 45.46° (c) 28.75° (d) 38.25° (e) 31.52°

inh+ﬁm
TYH: (a); = = 1.48 -~ §,, = 35.46°
9T e I B o ofew 26eTT ©f (/1.6 eV 93 FEifes =feq o ey fFrfe 2o | wreifes. s
A ©qF A (39 39 | 2DIFRITE FEF 2.2 eV |
(a) 3511A (b) 3656A (c) 3276A (d) 2686A (e) 3326A
gE: (c); E=R+W = 16+22—38ev_ ~A=3269A
2.2 m ¥ Yo I o [ew anw 8.4 kgﬁwaamﬂ.ﬂ mm ITCG | SIEF SHAMTTA 2R SNF 2 X
1011 N/m? 201 I ogueeed carge fadfy o |
(a) 1.568 x 10~°m? (b) 1.48mm? (c) 1.6 X 10~2cm? (d) 1.74x 10~°m? (e) 2 X 10~®m?
s (d); Y = = "5+ A=1.74x 107 m?
20°C o 20kg “1fFe 100°C @R IT= e Fwe affE et ¥ T2 [AEASITT qE A

= 2.26 % 10° Jkg~1K~1]
(a) 1.41 X 105]K (b) 1.26 x 106K~ (c) 141.46]K 1
(d) 1.7 x 10%ergk~* - (e) 1.38 x 10%JK™1

ST: (a); s = mslnz2 + =¥ = 1.41 x 105JK~
1

2
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63. WW@%Wlzuomﬁﬁ%mwﬁmwmlmﬁmmﬂmmmmmﬁﬁm

F© fa?
(a) 0.01 rad/s (b) 0.001 rad/s (c) 1.00 rad/s (d) 0.002 rad/s (e) 0.1 rad/s
1200
TN (€); w = - = 2= 0.1rads™" :
64. I T AT AT 50% 3 TS G IR NG oG TS A2
(a) 1.25 @ (b) 1.52 & (c) 1.35 & (d) 1.53 & - (e) 1.57 &9

‘q:n!ﬂr{() Jll:_: E+DSHZJL_: =< =1+1.25=125%

65. wﬁmﬁww@ﬁwm—mﬂmﬂﬁmmﬁqﬁﬁww—64)(103Kml
(a) 8.4 X 103 km (b)43x103km (c) 4.0 X 103 km (d)52><103km (€) 6.8 X 103 km

wr:rwrm(b);gh = (1‘E) - 1—-=>h 4.8 x 103km
66. ﬂﬁwﬁﬁmmgmaﬁﬁmwmlmﬂcmﬂmmﬁwﬂﬁrﬁ‘@m@m?
(a) 1080.28J (b) 1108.287 (c) 1180.28] (d) 11007 (e) 1801.28]

T (c); F = nRT
67. T 19 ey «fb 787 R 0.01m 9 F™1% 12Hz | I8BA 79 5 X 103 m =07 @7 ot o7
(a) 0.755 m/s (b) 65.3 cm/s (c) 6.52 m/s (d) 66.22 cr/s (e) 0.564 m/s
TAY: (b); v = wVAZ — x2 = v = 21t X 12VAZ — x2
68. W2 CrE T e wu T 1073 kg @z 0.8m e Birew o W G2 79 (AT I TR | 9T AV
BIfEr® @R G waieE 0.04m TR ede 3a | afS qee sireta sifeme g =)
(@)5.6X107°C (b)) 6.53x1079C (c) 6.6 x 107°C  (d)3.14 X 107°C (e) 8 X 10~°C

STAS: (¢);

Tsin9=mg; TcosB =Fm ~ tanB =-?_

_ — Mg _ o hiaf -9 .
r=004m= Fp=gs L =€ .q=66x107C

69. u3l WAPfe= #irr &fS &S 1500 37 122 | 735 35 399 717 3019 AE T 2RI IF T T | <IN TS 3@ 579y

G
(a) 3.8 minute (b) 437 minute  (c) 5 minuté (d) 200 sec (e) 4.02 minute
TYE: (e); 0 = 222t st = f: = B = 241.52 s = 4.02 min

60

70. 3% 6MeV @6 et fFtsa e @ @l g e aeie wfd ive cva B wiefie 331k7 7 e Son fice
fers | B @9 7w 1.5T 1 @it o fmmier <o e o1 iSte ©9 a9 sy g 1.7 X 107%7kg @32
1.6 x 10~19C
(2) 8.06 X 107'?N (b) 74 X 10712N (c)9.1x 1078  (d)4.65 x 10~1?] (e) 5.04 x 10~12N

STY: (a); F = quB = q Fmﬁ B=16x10"19 x Jz“ﬁ””ﬁ"”'ﬁ““'” x 1.5 = 8.06 x 10~ 12N

1.7x10%7

q e FEE
U i’Em P 49 “anedgs
e E< T o
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71. @%mmawzommwmﬁWWGWﬂwuﬂmﬁWWW?

(a) 30° (b) 24°2’ (c) 22°59" (d) 22°14' (e) 23°58'
FAYH: (¢); tan O = ::::;g = |j}}B| = EEL;E = 22°59'
72. G0 I @fF @ @ECE W0yg 0.05m T FAF OfF WS (@ AT | ofF i (AT Wiy WK IO g9 A3 FACS
MIGISE,
(a) 1.67 cm (b) 0.02 m (c) 1.33 cm (d) 0.022 m (e) 1.52 cm
SIS ; -1
T: (2); d = L% [r = (IR @omsgen)” = (5) = 2]

73. 3o T e 2feraa TRy &S wom 25 X 108kg #ifF 50m Twew T =71 70% TS T T OF TS

forefar =59 |
(a) 4.8 x 106 H.P. (b) 6516 HP.  (c)5.7 X 103 H.P. (d) 3649 H.P. (e) 6251 H.P.
m: (No correct answer); P = 760 = 3.4 x 10%; P' = — = 1.13 x 107 watt = 15204 HP

74. G A 9GF A 2.5 X 10710 m @3 ofS =iEN5R S5 Wgg 7R 6.02 X 10%° | AT 4% IF oY I A7
(a) 5% 107 8m (b) 5.8 nm (c) 0.6 nm (d)8 X 107%m (e) 0.72 nm
SAMY: (2); FCEIN FAPIE A = —— = 5.97 X 10~% m

VZ2nrip
75. wIffF (st o B 27 %X 10° N/m @3 979 0.87 x 10° kg/m?3 |ﬂﬁ58x10‘5mWﬁ¢ﬁWW
WWWWZZ“E,WWWWWMWWW|

(a) 20.25 cm (b) 20 cm (c) 0.28 m (d) 0.18 m (e) 18.2 cm
T (2); T = 5o < h = 20 = 0,2025 m = 20.25 cm
[oTg T 939w 27 X 1073 @3 307 27 X 103 =it gz 1]

76. ‘Raihan stood in front of me.” The underlined part of the sentence is- [Ans: d]
(a) Noun phrase (b) Adjective phrase (c) Prepositional phrase
(d) Adverbial phrase (e) Verbal phrase ;

77. Choose the correct negative sentence of the statement “He is greater than 1.” [Ans: a]
(a) I am not as great as he. (b) I am not greater than he. (c) He is not greater than 1.
(d) He is not so great as 1. () I am not greater than him.

78. ‘WIF CSITET (PG T, FICZ AT 590 - translate into English. ‘ [Ans: a]

(a) Absence makes the heart grow fonder.

(b) Absence of heart occurs while remains at far.

(c) The heart burns while remain in absence.

(d) Absence made the heart to burn while stay far.

(e) Heart being burned while stay far but neglected while 1n close.

79. ‘After you turn right, go for five blocks and turn left’- translate this sentence in Bangla.
(a) <6l I IR 272 I ATF @S TF, SIFAF Gl | [Ans: b]
(b) T MtE GG (FAF <17 WA 2601 33 INIF YR S IW MiF (e g | |
(c) 3 it TR =47, T e (g (T o7 Ao 7% T |
(d) =ief6 FT TAF A2 ©F T @TS T, ST I |
(e) ©F At TA[ =17 W= AT 7F IR, S I e |

ETTR . o {0
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following. [Ans. a]
(a) I remember being taken to the Sunderbans
(b) The Sunderbans is being remembered for taken me.
(c) I remember them for taking me to the Sunderbans.
(d) I was remembered for being taken by them to the Sunderbans.
(e) I remember for being taken to the Sunderbans. -
81. Choose the active form of the sentence- ‘What are these holes made by?’ from the following. [Ans: b]

(a) What made these holes? '(b) What makes these holes?
(c) What were made these holes? (d) What are made of these holes?
(e) What makes of these holes?

82. Choose the correct indirect speech of the sentence- He said, ‘Let me have some milk.’ from- [Ans: €]
(a) He said he wanted some milk. (b) He prayed that he might have some milk
(c) He wished that he might have some milk. (d) He said that he might have some milk.
(e) He begged that he might have some milk.

83. “He will go only after compulsion.’ The correct complex form of the sentence is- [Ans: b]
(a) He will go until he is compelled (b) He will not go unless he is compelled
(c) When he is compelled he goes there. (d) He will go when he is compelled.
(¢) He will go when he will be compelled. |

84. Choose the correct sentence from the followings. | [Ans: b]

(a) I think likely that he will arrive tomorrow.

(b) I think most likely that he will arrive tomorrow.
(c) I think it is likely that I will arrive tomorrow.
(d) I think he will arrive tomorrow.

(e) I think likely to be there tomorrow.

85. Choose the correct sentence from the following; [Ans: d]
(a) The boy was short who was snatching my bag. (b) The boy was short who snatched my bag.
(c) The boy snatched my bag who was short. (d) The boy who snatched my bag was short.

(e) The boy snatched my bag was short.
86. ‘At last, he breathed his last breath out, and that was the end’-which ‘idioms’ is used in this sentence?[ Ans:c]

(a) at last (b) breathed (c) last breath out (d) that was (e) breath out

87. Which one is the correct antonym of the word ‘Inimical’? [Ans: c]
(a) Angry (b) Indifferent (c) Friendly (d) Hostile (e) Cooperative

88. Choose the correct tag question of the sentence- ‘you broke the machine, ?’ [Ans: b]
(a) did you (b) didn’t you (c) haven’t you (d) hadn’t you (e) weren’t you

Read the following passage carefully and choose the correct answer to question numbers 89 to 91.
The Rohingya is an ethnic minority Muslim gri:mp with roots that stretch back hundreds of years in
western Myanmar, in what is now called Rakhine state, on the frontier with Bangladesh. Over decades,
terrible living conditions and attacks on their communities by both the military and their ethnic Rakhine
Buddhist neighbours have driven many out of the country since 1970s. In the recent horrific violence for
the eviction of Rohingya community from Myanmar through genocide and brutal ethnic cleansing
attempts, as many as around 600, 000 Rohingya have crossed the border seeking shelter in Bangladesh
since 25 August 2017. To stop the brutality and return them in Myanmar, the Prime Minister of
Bangladesh, Her Excellency Sheikh Hasina unfolded her views in the National Parliament of Bangladesh
and five point proposal in the General Assembly of UN on 11 September 2017 and 21 September 2017,
respectively.
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How can you define rohingya? ' [Ans: c]
(a) A minority group in Myanmar.

(b) A Muslim group in Myaanmar.

(c) An ethnic minority Muslim group in Myanmar.

(d) A group of people living in Rakhine state.

(e) An ethnic minority group in Myanmar. |

How can you termed the recent violence in Myanmar? . [Ans: b]
(a) A brutality against Rohingya Muslim group.

(b) Genocide and brutal ethnic cleansing attempts.

(c) Driven out of Rohingya community through torture.

(d) A civil war in Myanmar between the Military and Rohingya community.

(e) General boarder conflicts between two countries. |
In Which date and place, the Prime Minister of Bangladesh placed her five point proposal regarding
Myanmar crisis? [Ans: c]
(a) At the National Parliament of Bangladesh on 11 September 2017. |

(b) At the European parliament on 11 September 2017.

(c) At the General Assembly of UN on 21 September 2017.

(d) At the General Assembly of UN on 11 September 2017.

(e) During the meeting with the Secretary General of UN on 21 September 2017.

Which one of the following words is always feminine? [Ans: €]

(a) Foal (b) Fowl (c) Spouse (d) Squire (e) Shrew

Which one is the singular number of the following words? [Ans: e]

(a) Agenda (b) Curricula (c) Errata (d) strata (e) Datum

In which of the following words the article ‘a’ is used before? [Ans: c]

(a) Hour (b) Island (c) European (d) Onion (e) MP )

Choose the appropriate preposition for the blank in the sentence- ‘Did you remember to return the book
time?’ ' [Ans: d]

(a) in (b) at (c) within (d)on (e) ever

What kind of pronoun is the word ‘that’ in the sentence- ‘All that glitters is not gold.’ [Ans: b]

(a) Reflexive (b) Relative (c) Reactive (d) Emphatic (e) Demonstrative

Which one is the adjective form of the following words? [Ans: c]

(a) Breath (b) Breathe (c) Breathless (d) Breathlessly  (e) Breathing

Choose the appropriate word for the blank space of the sentence- ‘As soon as he became rich he cast

his old friends.’ [Ans: c]

(a) down (b) off (c) aside (d) upon (e) out

Choose the ‘past participle’ form of the verb ‘Grind’ from the following words. [Ans: d]

(a) Grinden (b) Grinded (c) Grind (d) Ground (e) Grown

Choose Synonym of the word ‘Invocation’ from the following words: [Ans: b]

(a) Eviction (b) Chant (c) Vocationary  (d) Invisible (e) Invoke




